14

CHAPTER

Q1

Q.2

Qa3

The sound pressure for ajet plana onihe ground
with sound pressure of 2500 y1 bar should be
(@) 140aB o) 142dB

(c) 144dB {d) 1464dB

il

Consider the [ollowing statements:

1. Ine dB is the fair test sound which can be
perceivad by human ear and the maximum
sound which can belolerated by humanear
is about 200 dB.

2. Sound intensily varies as square of sound

pressure.
Which of these slatements isfare cofrect?
(a) 1only {b) 2only

{c) ‘Both1and2  (d) Neither 1 nor2

What type of noise can be gbaled by providing -

lining on walls and ceiling with sound absorbing
materials?

{2} , Source noise

{b) Reflection noise

{¢) Structuralnoise

{0} Directalrbore neise

Two sovrces generale noise levels 0! 90 dB and
94 4B respectively. The cumulative effect of
\hese two noise levels on the human ear is

Q5

Qa6

Environmental Engineering

Noise Pollution
(a) 184dB {5} 95.5dB
{c} 94dB {dy92dB

Which of the {ollowing pairs ara correcily
malched?
1. Reverberationtime : Timerequired loreduce
noiseby80dB - 12
: Rasponsible  for
permanent heating
: Formed when sound
vaves are reliocicd
from convex surface
: Responsible for
temporary hearing loss
Select the corect answer using the codes given
below:
{a) 2,3and4 {by 1,3and 4
€} 1.2and4 {d) 1,2and 3

Consider the case where noise level of 80 dBA
exists {or 5minutes and is followed by reduced
noise level of 60 dBA for 50 min. The equivalent
confinuous energylevel{t, or SSminutes period
is

(a) 70.00dB
{c) 59.264B

2. NIPTS

3. Sound foci

4. 778

{ 79.63d8
{d) 84.21d8



Nolse Poliution

1.{p}) 2.(b) 3 ({c) 4. (d)

SFAERENGULE  Nolse Pollution

.

(b}
* Sound pressure level {(dB) = 20!&9.9(;]
3

Where, Pis sound prassuse in Nfm?
£, isreference pressure (2 x 10FN/m’)
For given sound pressure,

P = 25001 bar=250N/m?

-~ SPL= 20?09(

25“_5)=142 B
2x10 ]

(b}

The maximum sound which canbe lolerated by
human ear is about 180dB.

(c) ,

Sound absorbing materials refiect the noise and
they are mostly used in thealres elc.

td}

The cumulative elfect of these wo naise levels
wilt be between S0 dB and 94 dB.

- 1o
i, =20 KZ(;o)lnm]

awf
=20 %x(‘tﬁmﬂﬁm)]

=922dB

5. {c)

8. {b}

{€)
ﬂever!_‘:efzi{ion fime is (he lime required toreduce
the inlensity to one-millionth of its initial value,

Sound level (dB) = 10[09(}’_’] ‘
2

=10 log {10%) = 60 dB
TTS (Temporary Threshold Shift) is temporary
impaimant of hearing acuily as indicaled by
changzs in the thrashold of audibilitys
PTS {Parmanent Threshold Shilt) is related 10
permanent hearing loss. )
The sound loch are lormed whan sound waves
are reflacled from ¢oncave surface.
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SRR
10109[10 x11+10“x ”

1010g [91818181.82] = 79.629dB
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